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PART ONE (50 POINTYS)

I. Vocabulary and Structure (10 points, 1 point for each item)
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1. Jean didn"t have time to go to the concert last night because she wasbusy ~ for
the examination.

A. toprepare
to be prepared

preparing

o 0w

being preparing

[\

The teacher"s insistence on high standards resulted  excellent work.
with
from

n
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to
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Read aloud all the students in the classroom can hear you clearly.
since
because

for

oS o v >

so that

N

I have no doubt he will overcome all his difficulties.
which
what

that

S o v >

if

www.clxlb.com




S
b3
o0
o
4
d
P
=
e
il
2k

5. It"s necessary thathe  in time to attend the meeting.
A. come

B. came

C. comes

D. will come

6. Sometimes very young children have trouble _the right from the wrong.
A. for separating

B. to separate

C. having separated

D. separating

7. the saying goes, practice makes perfect.

A. Since

B. As

C. For

D. Like

8. Itisimpoliteto  in others" private affairs.

A. involve

B. invade

C. integrate

D. interfere

9. They thought the program was ___ investigating.

A. worth

B. worthy

C. worthwhile

D. worthing

10. To our delight, she quickly  herself to the situation.
A. adopted

B. adapted

C. attached

D. appealed
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II. Cloze Test (10 points, 1point for each item)

TAE SR AR E, BN AA PR, RYE LN SCESRIE T R E R,
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Smoking is harmful to health. Our tobacco-seller, Mr. Johnson, always asks his
customers, if they are very young, whom the cigarettes are bought 11 . One day, a little
girl whom he had never seen before walked into his shop and demanded twenty
cigarettes. She had the 12 amount of money in her hand and seemed very sure of
herself. Mr. Johnson was so 13 by her confident manner that he forgot to ask his usual
question. 14 | he asked her what kind of cigarettes she wanted. The girl replied readily
and handed him the money. While he was giving her the _ 15 , Mr. Johnson said
laughingly that as she was so young she should 16  the packet in her pocket in case a

policeman saw it. 17__, the little girl did not seem to find it funny. Without even smiling

she took the packet and walked towards the door. Suddenly she stopped, turned 18, and
looked at Mr. Johnson. There was a moment of silence and Mr. Johnson 19  what she
was going to say. All at once, in a clear, firm voice, she said “My dad is a policeman,”

and with that she walked quickly 20 the shop.

11. A. withB. toC. forD. by

12. A. exactB. some C. large D. enough

13. A. worried B. annoyed C. surprised D. pleased
14. A. Therefore B. Instead C. Anyway D. Somehow
15. A. change B. warning C. bill D. cigarettes

16. A. cover B. hide C. dip D. take

17. A. Nevertheless B. Moreover C. Therefore D. Then
18. A. awayB. round C. over D. aside

19. A. wondered B. considered C. doubted D. expected
20. A. intoB. outofC. onD. away

III. Reading Comprehension (30 points, 2points for each item)
MR FEE T R SCH ] RS B s DU A e Bt — DM iR B 58, JFEB R b
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Passage One

Questions 21 to 25 are based on the following passage.

Most people sometimes feel lonely, but it usually only lasts between minutes and a few
hours. This kind of loneliness is not serious. In fact, it is quite normal. For some people,
thought, loneliness can last for years. Now researchers say there are three different types of
loneliness.

The first kind of loneliness is temporary. This is the most common type. It usually
disappears quickly and does not require any special attention. The second kind, situational
loneliness, is a natural result of a particular situation—for example, a family problem, the
death of a loved one, or moving to new place. Although this kind of loneliness can cause
physical problems, such as headaches and sleeplessness, it usually does not last for more than
a year.

The third kind of loneliness is the most severe. Unlike the second type, chronic ( >
P 1¥) ) loneliness usually lasts more than two years and has no specific cause. People who
experience habitual loneliness have problem socializing and becoming close to
others. Unfortunately, many chronically lonely people think there is little or nothing they can
do to improve their condition. Psychologists agree that one important factor in loneliness is a
person"s social contacts, e.g. friends, family members, coworkers, etc. We depend on
various people for different reasons. For instance, our families give us emotional support,
our parents and teachers give us guidance, and our friends share similar interests and activities
with us. However, psychologists have found that, though lonely people may have many
social contacts, they sometimes feel they should have more. They question their own
popularity.

Psychologists are trying to find ways to help habitually lonely people for two reasons:
they are unhappy and unable to socialize and there is a connection between chronic loneliness
and serious illness such as heart diseases. While temporary and situational loneliness can be
a normal, healthy part of life, chronic loneliness can be a very sad, and sometimes dangerous,

condition.
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21.

What can we learn from the passage about temporary loneliness?

It requires special attention.

B. Itis very common and usually disappears quickly.

It is serious but it usually disappears quickly.

It is as serious as chronic loneliness.

. Though lonely people may have many social contacts, ?

they want to socialize with more people

B. they still need others to guide them

C. they still others to support them emotionally

S

o o w >

25.

they want to question their own popularity

. What kind of loneliness can cause serious illness?

Temporary loneliness
Situational loneliness.
Chronic loneliness.

Short-term loneliness.

. Why do chronically lonely people need help?

. Because they have difficulty socializing and chronic loneliness can cause serious

. Because chronic loneliness lasts more than two years.
. Because they think there"s little they can do to improve their condition.

. Because they think they should have more social contacts.

According to the passage, which of the following statements is true?

Only a small number of people feel lonely.

B. Like chronic loneliness, situational loneliness can cause physical problems.

C.

others.

D.

Chronically lonely people have no difficulty socializing and becoming close to

All kinds of loneliness are very dangerous.

Passage Two

Questions 26 to 30 are based on the following passage.
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Studies show that the world in 2010 will be more crowded, more polluted and less stable
ecologically ( 7EAEZSJ71H ) than the world we live in now. Visible ahead is serious stress
involving population, resources and environment. Despite greater food output, people in the

world will be poorer in many ways than they are today.

For hundreds of millions of the extremely poor, the outlook for food and other
necessities of life will be no better. For many it will be worse.

While the economies of the developing countries are expected to grow at a faster rate
than those of the industrialized nations, the total national product per head in most less
developed countries remains low. The existing gap between the rich and poor nations will
further widen.

World food production is estimated to increase by 90 percent from 1970 to 2010. Most
of that increase goes to the countries that already have relatively higher per-head food
consumption ( JH?%% ). Meanwhile, per-head consumption of food in the developing
countries will scarcely improve or will actually fall far below the present inadequate
level. What is worse is prices for food are expected to double.

As a result, many less developed countries will have increasing difficulties meeting
energy needs. For the one quarter of mankind that depends primarily on wood for fuel, the
outlook is not hopeful.

Regional water shortage will become more severe. In the 1970-2010 period population
growth will require twice as much water as it does today in nearly half the world. Still
greater increases would be needed to improve standards of living. Development of new
water supplies will become more costly.

26. According to the passage, in 2010 while output of food will be greater, .

A. people will have sufficient food supplies.

B. The world resources will become more than enough

C. In most developing countries people will have less food than they have today

D. The living standards of the world"s population will improve greatly

27. According to the author, in 2010 for many poor people, .

A. things will get even worse
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B. things will be a little better

C. it will be necessary for them to improve their housing

D. it will be impossible to obtain enough necessities of life

28. In the 1970-2010 period, the large proportion of global increase of food production
goes .

A. to 90 percent
B. to developing countries
C. to any country in the world that needs it
D. to those countries that already have high per head consumption

29. How does the author predict the development of new water supplies in the future?

A. Water shortage will occur in some regions only

B. Development of new water supplies will be more expensive.

C. The less developed countries need more water than the developed ones.

D. The demand for water will double with the growing population.

30. Which of the following may best serve as the title of this passage?

A. the Future problems in the World.

B. Water and Air Pollution.

C. Water and Food Shortages

D. Food Production and Consumption

Passage Three

Questions 31 to 35 are based on the following passage.

The World Trade Organization (WTO), founded on January 1, 1995, aims to encourage
international trade to flow as freely as possible, making sure that trade agreements are
respected and that any disputes can be settled.

In the five years since its founding, the WTO has become well known as one of the
world"s most powerful economic organizations, taking its place alongside the World Bank
and International Monetary Fund ( [ fx % Mm3& 4420 ).

The system of global rules for international trade, however, dates back half a century to
1948 when the General Agreement on Tariffs ( B ) and Trade (GATT) was formed after

World War II.
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As time went by, it became clear that the GATT had two major drawbacks—the limited
areas of trade it covered, and the lack of an effective system to settle disputes.

After seven years of trade talks ending in 1994, the so-called Uruguay Round ( 2=

4R # ) finally gave birth to the WTO, complete with an effective system to settle

disputes and to form new rules covering trade in services and intellectual property.

Even after seven years of talks and with 22,500 pages of agreements reached problems
remained, especially in the difficult-to-deal-with areas of agriculture and services.

31. What is the purpose of the WTO?

A. To encourage international trade to flow freely.

B. To make sure that trade agreements are respected.

C. To settle any disputes.

D. All of the above

32. According to the passage ,the GATT stopped working .

A. in 1948

B. in 1994

C. after World War II ended

D. during the seven years of the Uruguay Round talk

33.The WTO is better than the GATT in that .

A. it can settle disputes in more areas of international trade

B. it enables its members to sign agreements more easily

C. it deals with problems in agriculture and services more effectively

D. it pays more attention to service and intellectual property

34.The word “drawbacks ” in Paragraph 4 means

A. Weak points

B. Strong points

C. Improvements

D. Changes

35. According to the last two paragraphs ,which of the following statements is true?

A. The WTO is the world"s most powerful economic organization

B. The GATT was founded in Uruguay in 1995
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C. The WTO has an effective system to settle disputes and to form new rules
D. All the countries in the world are member nations of the WTO

IV .Word Spelling (10 points, 1 point for two items)

36. 1&HL, HIAL n. s

37. A= n. W

38. MR, MY vt r

39. BEH o n. I
=

40. &

41. R4, 50A] vt r

2. /R, WA vt. o

43. BRI, FER a. w

44. THH a. n

45. 4L vt. p

46. HPZE n. b

47. fEHmAE prep. B

48. i vt. f

49. EEH vt.oa

50. X, AEAEXS vt. o

51. FfF, WEEWH no

52. Wi, Mii% aux. o

53. @ H, oot

54. MUK, HRH a. r

55. MEMRY, ZtER) a. £

V' .Word Form( 10 points, 1 point for each item)

56.The governor"s wife persuaded him___ (not, accept) that man"s money.

57. _ (lie ) under a tree ,Mary was thinking how to teach her daughter English
effectively

58.Promotion is not based on the _ (long) of employment only.

59.His ____ (curious) about the earth led him to a great discovery.

60.Her compositions show that sheisa very _ _ (imagine) child.

9
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61.She spent ___ (little) time on writing than on other language skills.

62.Your hairneeds _ (cut). Itistoo long.

63.The two cars collided with each other,  (cause) a traffic jam.

64.1 have no choice but __ (wait).

65.He would like to have the work  (do) perfectly.

VI .Translation from Chinese into English(15 points, 3 points for each item)

66. ZAIINHE, AR LS R —Ffr ?

67. WERZEARAER, ik .

68. FATHI LA STHFEHARKKIK R,

69. AtEMSERIN, R REIRATR K — BHIR(E A %E

70. AR AT 2 S SR I .

VIl .Translation from English into Chinese(15 points)

It is said that although water is essential for life, it costs nothing .On the other
hand ,diamonds cost a lot ,yet they are essential for nothing .The world has changed greatly
since an 18th century economist made the remark.

What was true over 200 years ago is certainly no longer true now. In many
countries ,people pay as much for water in their homes as they do for electricity.

We neglect water when we have plenty ----unless there are floods ,of course .Once there
is a threat to our water supply ,however ,water can quickly become the only thing that
matters. We know only too well that without water,there can be no life.

The situation is now becoming so bad that scientists feel it may be necessary to shock
the world into saving water the way oil crises caused people to save energy resources in the

1970"s.
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